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¢. Noun of the word ‘Poor’ is-
%) Poorify %) Poority ) Poo
¢x. The boy reads a book. What k
¥ :_ggags: in;t};? sentence is? :
¥ Princi Sk N L
)] Trahsilt):ive verb 2{};;:;1111&}' verb
| ¢o.He seems to be happy wit Sitive verh

h hig ;
¥ wasn't he % has he achievement, — ?

overty

_TneSs 9P
ind of verh

%) isn’the %) doesn’
_ 't he
as. Vioullsl you mind - a cup of coffee with me?
) having ¥ having to drink
%) drink ) to take

¢¢. What is the plural form of the word ‘deer’?

¥ deers ) deer %) deerzy eer

¢s. What is the synonym of ‘Al]ia;xl;?;ly :
¥) Enmity 4) Alien
) Association %) Separation

@3- What is the verb form of the word ‘Beauty’?
¥) Beautiful %) Beautifully
%) Beautifying =) Beautify

¢-. Which of the following sentence is correct?
%) Iheard himtoread. %) Iheard him reading
#) Ihave heard him reading. %) I saw him readind

@». The arrived here after you (Left). :
) had left ¥ left =) willleave %) leave

wo. Choose the correct meaning of the word ‘Adverse'.
) ORPR ) @IBT o) oA ) gm

w3, Which of the following words is in singular form?

7) formulae %) agenda
%) oases v radius

w3, Education is entightening: Here ‘enlightening is -
#) Agerund %) A Participle

%) Aninfinitive v A finite verb
ve. Use the appropriate article-
I saw—one eyed man when [ was walking on

the road.
¥ a 7 %) an
s) the ¥) no article is needed

w8, Choose the correct sentence:
%) Yesterday, he has gone home.
%) Yesterday, he did gone home.
%) Yesterday, he kad gone home.
) Yesterday, he went home.
ve. What is the masculine gender of ‘mare’?

¥ Mermaid <) Horse
. ) Dog ¥) Bear
wy, Choose the word which never has a plural.
¥ mouse %) intention
s) women %) information

v4q, What is the noun form of ‘propose’? ;
¥ Proposition @) Proposal
%) Proposed @) Proposing
v, He gave me five books. In this sentence which
is the adjective?
) Books =) Gave .)Me %) Five
u>. What is the meaning of the idiom- ‘smell a rat’
) bad smell ) suspect something
% make difficult 9 presence of a thief
q0. What iz the correct spelling?
7) Acknowledgement <) Acknoledgement
i) Acknowlegement %) Acknowledgament
as, He can make you do this-«s 7 Isiigam-
7)) @ ot oy aft FHCS ARE]
W) G oI T afb SIS AR
) 18 iy af TS ATE)
) G SR oy 9ft FH0 AN
ay. What will be the correct proposition in ‘My
friend always goes home -- feet?
) with fHby MHon 9) of
a0, What is the meaning of ‘Black Sheep’?
7 Asheep of black colour %) Big Sheep
) Disgraceful Person w) Costly
a8, He is popular-- all - his goodness.
7 with, to %)) to, by
s) with, for ) to, for :
q¢. None but the brave deserves the fair. In this
sentence ‘but’ is--

Preposition % Verb
Z) P g e W e hia =) el o]
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iWe must not be late, else we wi

mpound Sentence
0 ConplorSrtnc
s Simple Senten
errogative bentepce
as, Ig)englf; thg S«I:lorrcqac:t passive formc{xfthe
elow?
:: nﬁlecshey known by you? :
4) Would they be known by youQ 9
s) Are they be known with you?
¥ Are they knowl to you?
%, ‘Once in a blue moon’ means-
7) always ) Keas;lgarely
%) no :

W, ghoﬁzzl‘tlge appropriate prep051thn 1n the
blank of the following sentence: Eight men
were concerned---the plot?
¥) ‘at Hwith Hin 9 for

vo. ‘Mutton’ is a/an-
¥ Common Noun
%) Material Noun

%) Abstract Noun
%) Proper Noun

AT HWH-0

b3, ‘Line of Control’ @ ¥ cies® Fre S
F) SrFe- AT =) SE-AAFEIT
) a3 @i @i 9) AT SFAATI
bR, RY W I (WIS T :
F) S50 AT ) S9bG HITT 7 d30b AT F) 55 A
o, AT YR 0747 @ o TS?
Aot o eswsof %) e Lol
N e ™ 9 voe i 6w
b8, BIMp %3 B (1T qATES?
I) AR ) e @R 9 FeE
b¢. At o ‘mitert-g0’- @3 fTaFs &2
F) G AR =) T ZEAA
) @7 @Y FFTSi ) ATl
b, AR A5 (3 AT A AE Za-

T) SBUS A) 559> ) 5»a¢ q) 5590
b4, ISR @I (e B s = 2
) G5 P M) wrEf ) 3T

b, ALTTICR 9F3Tg Arere [EE Tst-
?) AR ) FROA ) T qA W) e
b5, Fferaay Swatels e ZeET- g
/%) Qb MY R0%30-50 fHETER 085
%) 33 T 30%0-5 FEET 00
=) 39 af3E R0%0-54 fFE Y035

) 59 FIFHIA $030-50 TFATR 2085
5. 0% et e vt wifve T

F) 4RI12 ) BEa w9 IARE
55, @R ot 3= Sofeeae e 17

%) B ) @i o) Werae ) s

53, T Rroa =1 FRRUR T 7 @ (R ARFRUCE?
7 3) Gt NP ) IRFC ) T
S, ISAE B0 STAGTE @R I ResmeiR ot @Hh?
) SiEW fAFIgEIE N 9w
38, AfERBR 5 AR @ (oF SETS?
) 3 ) ZeifEn o) AR ¥) §IF
aa.mmmmammawmmv
) ARG Y N o) WO W) T

S, JFYRERET Hala-
%) SHaral =) FUE SR
oy SR RF GRL ) T (OB A

»9. asﬁimmﬁbmmm@ewmww?

o TR MEm DI geme
st ‘I have a dream’ el TS S (P 21 P
Vgame e Wi

ofy T A ) GEPH TS

S, (GAR BRI TTRTAE WETH -
) 2056-3090 %) 303¢-3000 ) 039-3000 H) 0bb-3090
oo, LA AT FRtt=t FRE ALHA I (T AE?
) d959 yb»b 1) 00> ) Yook




